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Q:1(A)

Q.1(B)

Define the following terms.
(a) Constraints  (b) Objective function © Feasible solution
(d) Optimal feasible solution,
Using the graphical method of solving the L.P.P., maximize the
objective function Z= 4x+5y subject to the following constraints. ‘
Ixtoyg 210, , 6x+5yg 210, and y are non- negative.
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OR

Q:1(A)
Q:1(B)

Explain the Transportation problem with propes illustration. -
Solve the following transportation problem using the North-West

Corner method.

Destinations

Origins. | A. T B C. 1D Supply.

p. |9 7. 1 10 1.8 14

Q1| 8 il 9 11 27
R. | 13 10 12 1 10 14

Demand.| 15 19 il 10 55
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Q:2(A)
Q:2(B)

Explain the assignment problem with propet illustration.

Solve the given assignment problem, using the Hungarian method.

A company manager has four workers and four different jobs. From
the past experience he knows the time ( ir: minutes) each of the worker
will take to finish.the different jobs. How should he assign the different

jobs to different workers s0 that the total time will be minimum.

Jobs 7

Workers A B C D
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12 15 18 8

13 10 9 14
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Explain the teplacement problem and the method of solving the
replacement problem,

The cost price of a cycle is Rs. 8000, The maintenance cost and the

resale value at the end of Ihe cach year of a cycle is mentioned as under.

When should the cycle be replaced? Decide it,

et itim i mp g

10

Vard 12 |3 Ja s |6l 7 TS
(MC.§ 500 | 600 | 800 | 1000 ] 1200 ] 1500 | 1500

200 |

M.C.= Maintenance cost and R.V.= Resale valye,

Define the distance between two points and slope of a line with proper
fi

ormulas,
Solve the following examples,
1. Find the equatxon of 2 line passmg through the the points (-2,-3)
and (-4, -8).

R.V. §6500 | 5500.] 5000 | 4500] 3800 3000 2500[ 25004

o5 |

10

2. If Ax+By+C=0 is the general equation of a line then find the

slope, x- intercept and y- intercept of the line,

OR

Obtain the equation of a line with slope m and making intercept ¢ on Y-
axis. Also find the equation of a line passing through the origin and
having slope 0.5

Obtain the equation of the line passing through the point (3,1} and the
point of intersection of 4x+5y+7= 0 and 3x-2y-12=0,

mmwm f(x) and explain the rules of
derivatives, i
Find the derivatives of the following functions.

L y= x+[logx +1]

2. y=(285) 0 4) (x +6)
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OR

Using the definition of derivative find the derivative of f(x)= x3

Obtain the maximum and mininum valuesof y = -0 24x+2.
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